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2. de ##3}

(n 71& K0, 600), #2(0, 0), Hu(~320, O)
(2) 33 ‘__g] }’\7 )\;IZ‘—U x=0 (3)
WA y=0 - (b)

T2l y= 12 1600 - (c)

oo

ARMAA RS A x, y, 223 8FE x=320, y=600, z=680
NiZE S AEE 2rolgta &
2r=RPg == Rz =10 =58 R =i =x+y— z=320+600 — 680 =240
(3) S d 4, y=240 ----(d)
SR A A x=—240 -+ (e)
HAbR M2 x=—120 - (f)
Mg A4 y=120 - (g)

(4) thi=(c)N(e)=(—240, 150); tli<x& A 24; y=150 ------(h)
H=)N(d)=(—-192, 240); JRALDA,; x=-192 ------(})
H=NH=(-120, 375); As#ZAA,; y=375 ----(})
M=) N(g)=(-256, 120); M FZF A, x=—-256 -----(k)

R M A, = — _lgx+56 ...... M)

= (c)N(1)=(-225.88235, 176.47058)
Wi =200=dte (Huoll A o] HE#R)

3. mo B

K0, 600), #(0, 0), #(—320, 0),

10, 375), A(—120, 375),

#1(0, 240), F(—120, 240), J1(—192, 240), $=&(—240, 240),

*I[(—-225.88235, 176.47058),

(0, 150), % (—120, 150), #2(—192, 150), 11(—240, 150),

780, 120), .(—120, 120), ¥ (—192, 120), & (—240, 120), JI(—256, 120),

#.(0, 0), 4t(—-120, 0), R(—192, 0), R(—240, 0), #(—256, 0), R(—192, 0),
H(—320, 0)
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4. 17719 &2 A4Fs 7, 2, 42 4G x, v, 222
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(4)
(5)
(6)
(7
(8)
9)
(10)
(11)
(12)
(13) &
(14) 3
(15)
(16)
(17)

B0, AKMIE, x=320, y=600, z=630
W5, ARG, x, =256, y; =480, z,=544

AT, AR, %, =200, y, =375, z2,=425
FFT3 ARG, x3=240, y3=450, 23="510
BT AAME, x=128, y,=240, 2, =272
AT ARBE, x5=120, y5=225, z5=255
ST AHg, x=120, ys=225, 2= 255
AT, AHLH, x,=120, y,=225, 2;=255
AT, ARNTE, xg=64, ys=120, 23=136
alHS, xg=064, yo=120, zg=136

ol
ol
ol
ofl —-Ll

o T A, x1p=164, yio=120, z;p=136
AT, AKHE, xp =192, y =360, z;; =408
A5 ol R, x5, =280, ¥12=150, z2;,=170

ok?i

T A BN, x3=236, y;3=255, z;3=289
BlE 5 A HWE, x,=48, viu=90, 24 =102
HFI; ARA®E, x5="12, y5=135, z)5=153

o Fa1; AWNE, x5=16, vi5=230, 2;5=34

* x5 =x= x7= 120, ¥5 = ¥5= ¥7= 225, 25 = 2= 27= 235
T AKRHE=ABRL%L=ARLE

* x5 =x9=x190= 64, y5= y9= y10= 120, 23 = 29= 2,p= 136
CARANE=ANS = ALINH
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5. A S #e AA¥Y ¥ ww

(1) AHADHY, A(=120, 375), 0:{(—120, 120), HY(—225.88235, 176.47058)
H; Z7=255
O xy=r=v (—225.88235 + 120)%+ (176.47058 — 120)% = V 14, 399998
=119.99999 = 120

H H; y7=\/ (—225.88235 + 120) % + (176.47058 — 375)* =V 50, 625.002
=225

(2) AL, O(=120, 120), JH(—256, 120), ¥ (—225.88235, 176.47058)
Il 2= 136
LrH; V= r=120

TG 2=V (— 256+ 225.88235)% + (120 — 176.47058)% = V' 4, 095.992
=63.99994 =64

6. BHRAMME A
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mAeZ EQELIDAA Feh 18~1947)d SRHZA S o) & (%7} slHdeta 4
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7. &GS A 47 &9 W

A&
K (0, 480)
¥2(0, 0)
Hi(—-360, 0)
K, x=0
R, y=0
K=
y=4x/3+480

Kipige] #+18
x=360, y=480,
z=600

&

2r=x+y—2z=240
Sedpz M A y=240
¥R, x=-240
AL x=-120
MeER; y=120

(240, 160)

B y=160
A (=180, 240)
ANE#x=—180
A &E#Ry =320
M& (i x=~270

/L\lll;
y=—3x/4+30
B (-216,192)

Hith < 240=-t3
fib B 4, 594(0,320)

H(~120,320)
H(0,240)
(=120, 240)
S8 (—240, 240)
& (0, 160)

A28
*(0, 720)
#(0, 0)
He( - 300, 0)
Kez#; x=0
R, y=0

y=12x/5+720

Kuwwze] 51¢
x=300, y=720,
z="780

2r=x+y—2z=240

A3&
xK(0, 1344)
(0, 0)
H(-392, 0)
Kiz=, x=0
Wiz y=0

y=24x/7+1344
Kz e -+ @
x=392, y=1344,

z=1400

2r=x+y—2z=336

gesn A A 2] y=240 BIEFHNY; y=336

AR, x=-240
B3 x=—120
NMe=s, y=120

L1(—240, 144)

<R TE#E y = 144
A (=200, 240)
R INE#R x=—200
A SIE#R,y =432
W& E & x = —250

IL\ l‘l.l;

y=—5x/12+70

5823, x=—336
AL x=—168
MNPEK, y=168
(336, 192)
e ERy=192
A (—294, 336)
HNE#x=~29%
A B #Ry =768
M5 iR x= —343
DM

y= —Tx/24+119

(—230.76923, 166.15384) (—329.28, 215.04)

Hih <180=dtith
fib 4 #5390, 432)

A (—120, 432)
# (0, 240)

B (—120, 240)
§& (—240, 240)

& (0. 144)

it <224=1tH
fi )2 £, 93(0, 768)
H (168, 768)
s (0, 336)

F (—168, 336)
g (—336, 336)
4 (0, 192)

._6_.

A4&
xA{0, 3600)
#(0, 0)
H(—-810, 0)
KEx, x=0 -0
#RZK, y=0 @

y=40x/9+ 3600---®

Kize] 318

x=810, y=23600,
2=3690

2r=x+y—2z=720
SEIHZ) A A5y =720 @
ERK;x=-720 --®
Bit®,x=-360 --®
JNAER,y=360 ---@
LI(—"720, 400)

i< E A7y =400--®
A (—648, 720)
AMNEZx=—648 -
A #E ARy =2000- @
N & R x = —T29 -
O
y=—9%%/40+279---@
(—711.21951, 439.0238)
Hith <450 =t

il A £, 950, 2000)

A (—360, 2000)

1 (0, 720)

8 (—360, 720)

58 (=720, 720)

4 (0, 400)
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(A18)
& (=120, 160)
&% (=180, 120)
7 (0, 120)
O (—120, 120)
# (—180, 120)
(=240, 120)
NI (=270, 120)
b (=120, 0)
(
(
(

i

|
NG

R

IS
4
AN LA EAL )

360;480,600

A RN GRE%)
270;360;450

AR (EIR)
240:320,400
ARG (E
240,320,400
AR R )
180:240;300
AKAHHWR) =
ARIE=AHLH
120;160;200
ARMEA ) =
AHE = A

S AR

90,120,150

AR (RENL)
180;240;300

At ROPEDR)
120;160;200
ARANO(EBLE)
150;200;250

(#M2&)
%4 (—120, 144)
iZ (=200, 144)
75 (0, 120)
D (=120, 120)
# (—200, 120)
#(—240, 120)
JIF (=250, 120)
it (=120, 0)
A (=200, 0)
R (=240, O
& (=250, 0)
A R iz Gl 2 8%)

300,720,780
AFINTGGEA)
250;600;650

A B b (EAR)
180,432,468
ARKILG (EENR)
240,576,624
AR (8
100;240;260
AKAEGT W) =
ARLk=ARLH
120;288;312
ARNFGF ) =
A s = ADIH

R

50,120,130

AR A H(KENR)
200,480,520
Al B EDR)
60;144;156

ARG (2BAR)
130;312;338

(#38)
% (—168, 192)
iz (—294, 192)
7 (0, 168)
{> (—168, 168)
# (—294, 168)
® (—336, 168)
N (—343, 168)
it (-168, 0)
A (=294, 0)
B (-336, 0
& (=343, 0)
A KA GE 2 %)

(-
(-
(—
(-

392;1344;1400
ARNMEGEAR)
343,1176;1225
A Bdb(EAR)
224,768,800
ARG (FHEAR)
336,1152;1200
A A RGERWE)
08,336,350
AXRHGHWER) =
AHILK=ARLE
168,576,600
ARNEEGR) =
ANl = A0
49;168:175
AR AM(KEAR)
294;1008;1050
A B UNEGR)
56;192;200
A BN EBAK)
175;600;625

(A4&)
4 (=360, 400)
{Z (—648, 400)
7 (0, 360)
L (—360, 360)
7 (—648, 360)
B (=720, 360)
JH (=729, 360)
it (—360, 0)
R (~648, 0)
B’ (=720, 0)
& (=729, 0)
A XHFZCRAAR)
Mol vl
810;3600;3690
A RNV GE )
729,3240,3321
A B (B4 8)
450,2000;2050
AR (EEIR)
720;3200;3280
A 3R RO
162,720,738
AKX AW =
ARIk=ARLH
360;1600;1640
AANEEF TR =
AL = ALHE
81,360,369
AR H (K EA)
648,2880;2952
A R UhEDR)
90;400;410
A BN BEE)
369;1640,1681



BEANE BB

(A1€) (H2&) (#M3&) (A4&)
ARZ(REANR) ARUZREOKR) SHLRREIER) ARLZKESR)
60,80;100 40;,96;104 42;144;150 72,320,328
AHAEWAK) AHABEEANK) AH A B WAK) AH AWK
60;80;100 80,192,208 ~26:432,450 288;1280;1312
AR () D) AR (%) AU (A1) AWLNFE( R B)
30;40;50 10;24;26 71,2425 9,40;41

8. 1 F9 3% &I

Ho PSR ZRITSED M BEITAEY SRS E AR EE THE
Rt DR A B

a 1) 88 u=2r=x+y—2z=320+600—-680=240 (2*=x"+3

& 2) AKHE =AKOH+ AROE+ AZLOHM
" 1/2X600% 320=1/2 X (680r+600r+320r), 2r=240

L, PZELEE ZEITE+HAS BT+ R aBE

& 1) KETIL AQLZ=AlART FRdE 24 2y yu2u@L 34
zy=AB(=A@=b+Hl(=f=a)=b+q, yy=AF-EH=r—q
Xy =k — 2%k =r—b,
KEEZHM=KEXMM=xy +yy+tzy=r—a+r—b+a+b=2r=240
[(a+ B)*=(r— )+ (r— b)*=48"+90°=10404 . a+b=102]

2D ABRAL=ABUL+FALEAL—AH LL
TY/2 % 48X 90=1/2 X (90r +48r — 102r), 2r=240

BAE T BIAER EFUEN ZBEX —EATAS BARLEIT SES
HZ

3 1) aXiigoA Xfi=XH, 600—r, X1=600+a~r, K&=600—r—a, td&=2r

-8 -
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#

a= gt = (D
AHUkRARLG, thk=r, We=2r, B%=HH=289—a—2zUI),
K&=600—r—a

o= V—aé_‘:_22_ NG

A g A R, Hilll=2 ALLI=289~-z Wk =a A%=289—a-z,
a(289—2)=2(289—ag—2z) - @«

622r— 72— 13200=(1778+a—2r)a -+ @D

(6227 — #* —13200)(600 — N *= [ #+ (2r— 1778)(»—600)1,

H(r)= »* —1200+°+ 544, 600°— 59, 940, 000+ 1, 188, 000, 000 =0,
H(120)=0, r=120, 2r=240

3 2) 3 19 OF OF ol &3tz
ABRJGANA gll=xetn stH B/I[=289, H{=280—2z JIlO=x+r,
289% = (x+ )+ (289 — 2)%, -
289(r—a)=6358+ #+2m+2x*+ a4’ @
A7 M 2= x?+ g%o| T},
ARWEZEAN A=ra+(r+a)b @D
AUHEeLAHINEZAAN x/a=r—b/r—a, x=alr-b)/r—a - &«@d
x= _.r%ﬂl_z @D
3

—_— Y ... .
X 500(300— 7 0.0-®

289 X (r— —’/2“)=6358+r2+2r><

3
600 — . 600¢300—7»)
2

+2x ( 600(3630—7) )2+ (soorz—r) !

5781300 —») _ - ol v
60— 7 = 6358+ 7 S Ty T TR0 000G = T (600 =92

LCM =180,000 (600 — #)2 (300 — )%,
H(r)= 4 —1,800+"+ 1,620, 000+° — 968, 040, 000»° + 448, 804, 440, 000+*

— 144,652, 392, 000, 0007° + 26, 834, 554, 800, 000, 0007
—2,056,246,560,000,000,000r + 37,079,856,000,000,000,000 =0,
H(120)=0, r=120, 2r=240
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1. BEHBREEEFAKR
2. TEIBREBRERK

Introduction to the Concepts of the Problems
in the Sea Mirror

Kunsan National University In-Yeong Yoo
Kunsan National University Seung-Jun Ko

Sea Mirror, reflecting the heaven of the circles circumscribed or inscribed, by Li Zhi
of Yuan Dynasy(1271~1368) was resolved by Li Rui(1773~1817) and added by the
new four rules not solved. In the Chosun Dynasty, Nam Byung Churl resolved the
problems of the Sea Mirror of the circle measurement and the preface was written by
his younger brother Nam Byung Gil(1820~ 1869).

In this paper, the concepts of the problems in the Sea Mirror and its three problems

will be introduced.
Key words : the concepts of the problems in the Sea Mirror
2000 Mathematics Subject Classification : 01A28
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